FA: ol | X
A HUX AESH(AY - SAIY/UXILTENL)
& JEANSI B2

SAH-33-HA(3) - NIBAIE - HES Oif &0l JIE Hus2
Ofl 4 XI 2t 26,041,565 22,181,565 3,860,000
=2 8,282,375 5,136,375 3,146,000
X 140,000 140,000 0
Il 4,803,691 4,803,691 0
= 12,815,499 12,101,499 714,000
MUK AASA(AY - FSAIA/NHXLRNL) 15,610,304 12,050,304 3,560,000
= 7,887,375 4,741,375 3,146,000
X 140,000 140,000 0
p]i 4,803,691 4,803,691 0
€ 2,779,238 2,365,238 414,000
BANSH B2 7,146,225 3,566,225 3,560,000
= 6,241,250 3,005,250 3,146,000
= 904,975 490,975 414,000
HoIJtARI Y Rl 2X(2D) 189, 150 142,350 46,800
= 145,500 109,500 36,000
& 43,650 32,850 10,800
403 XIS HSX=0IH 189, 150 142,350 46,800
= 145,500 109,500 36,000
= 43,650 32,850 10,800
01 HXESHA=EE 189, 150 142,350 46,800
OHOIAZIZ PYUH BF 189, 150 142,350 46,800
2 145,500 109,500 36,000
& 43,650 32,850 10,800
HINEX 20 X (2D) 5,353,200 2,934,000 2,419,200
= 4,550,000 2,534,000 2,016,000
= 803,200 400,000 403,200
403 RHXISHH S XHOI ™ 5,353,200 2,934,000 2,419,200
= 4,550,000 2,534,000 2,016,000
< 803,200 400,000 403,200
01 HXESHA=EE 5,353,200 2,934,000 2,419,200
OFIINER 70 X 5,353,200 2,934,000 2,419,200
2 4,550,000 2,534,000 2,016,000
= 803,200 400,000 403,200
HIIMSK S®ITe 2=(2D) 1,382,000 288,000 1,094,000
= 1,382,000 288,000 1,094,000
403 XSRS X0l & 1,382,000 288,000 1,094,000
= 1,382,000 288,000 1,094,000
01 HXSHAEEE 700,000 0 700,000
OHIINER SEEHI 23 700,000 0 700,000
= 700,000 0 700,000
02 2| RSO CHERHE = TH 8 AL H| 682,000 288,000 394,000
OISR EEHI| 23 682,000 288,000 394,000
= 682,000 288,000 394,000
IBHSHY =T (HILS/BABS YY) 1,411,800 1,111,800 300,000
= 395,000 395,000 0
< 1,016,800 716,800 300,000
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FH: RSN FAU(BHES/BFESLL)
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SN B BR(S) - NEAY - BES 0l &k o8 plE-L" CmE=T
JlzdEs g =& 1,019,800 719,800 300,000
= 80,000 80,000 0
== 939,800 639,800 300,000
SHSEE i "®EE HEL TA Z2Z" ME 300,000 0 300,000

Y

308 XX A SO0 & 300,000 0 300,000
10 SO 2SO CHEHZ A= CHE AR HI 300,000 0 300,000
OREA NHEL TAl 2RT HERA 300,000 0 300,000
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